Please typeset your solutions with a math symbol editor (for example, Latex)

For any answer you give, describe your solution process in words.  NO SOLUTION TO EVEN A SIMPLE PROBLEM SHOULD JUST HAVE ALGEBRAIC SYMBOLS…EVERY SOLUTION NEEDS TO BE DESCRIBED IN WORDS.

[image: image1.png]4. If D* is the parallelogram whose vertices are (0, 0), (—1, 3), (1, 2), and (0, 5) and
D is the parallelogram whose vertices are (0, 0), (3,2), (1, —1), and (4, 1), find a
transformation T such that T(D*) = D.




